Interactive Classroom Activity about Fairness and Freedom (after Rawls)
Initial scenario
  Display a bar chart, where each bar represents a person, or a household, or a group within a population in an idealized community.  (For the purposes of the classroom activity, each bar will represent a student, but do not reveal this initially)
example:
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The numeric values of the bars can be interpreted as
· a generalized good
· happiness (a happiness quotient)

   as opposed to unhappiness

· freedom:
   free time. time apart from constraint.  
· pleasure, enjoyment  (-opening the philosophical question of pleasure/happiness, but for now, let students conflate the two as they like)

· money

· power

For each scenario that follows, students record their responses either in notes or on a very simple  worksheet:



(note: “scenario, situation, case… “   which?)  

	Scenario number and description
	What happens? What should happen? 

	
	


First example
One person invents/discovers/creates something that will improve everyone’s score, including their own, by 4 points.  We can look at this as everyone would be happier, or have more freedom, or more pleasure, or money, or power, by a certain amount.
On the display, one box representing the person who made the discovery is highlighted. 

Then, to dramatize Rawl’s “veil of ignorance”, student names are randomly associated with the boxes, and then displayed, (shown here) -but only after students first record their responses to each scenario.  For each subsequent activity, randomize the names again.
Next Cases to explore:      

1) The creator/inventor/discoverer shares the benefit with no personal reward.  (thank you!)

         
-and then the names are revealed.

2) The creator/inventor/discoverer wants to charge a 1 point for their effort.  
    
-eveyone else goes down one, CID goes up 11
-everyone including the inventor goes up 4

3) The c/i/d wants to charge 2 points for their effort.  
    
-eveyone else goes down 2, CID goes up 22

-everyone including the inventor goes up 4
4) The c/i/d has worked hard (suffered) –actually lost 20 for their effort.  

5) The c/i/d has worked hard but enjoys and does not fundamentally sacrifice in their work.
6) The discoverer is simply lucky (finds some information) and wants to charge a small number of points 

7) The c/i/d produces something that only benefits the top group of 3 by 5 points

(Win-Lose)
8) The creator/inventor/discoverer improves the scores of everyone except

a) 2 or 3 randomly chosen individuals

b) the bottom 2 or 3 individuals

9) The creator/inventor/discoverer improves the scores of only the top point holders, either in direct proportion or probabilistically 

10) An market manipulator/predator (what shall we call them?) will give everyone a small number of points very cheaply (or “for free”) and will be paid many points to do it.  The points will come from the bottom 2 or 3 individuals (who work harder for less pay, or lose their jobs entirely, become homeless, etc.)

Negative World Situations (depression, environmental decline, etc)

People’s numbers fall for a couple of years, and then similar scenarios as above are played out as opportunities to mitigate bad circumstances.
some notes:
-  perhaps even better, students could actually create their own histograms for each given scenario.

(preprinted initial value bars could be used)

Ed Rokos concern –students will see this as a game, with the winner being the first one to get to the top.

TIME is an issue.  How to model a scenario immediate good with later bad consequences,
long term generational effects

